152

| | 000 AR TR R RRIRRR R
NW,
@ U‘“L%\

s |
SN
4"/ “ ” F gé

BRAINWARE UNIVERSITY

Term End Examination 2022
Programme - B.Tech.(CSE)-ZOIB/B.Tech.(CSE)-ZOlQIB.Tech.(CSE)-ZOZO

Course Name - English Il \_\BRP\RV
Course Code - HSMC(CSE)301 ” University
prainwd 700125
( Semester il ) geres® o\kate -
Full Marks : 60 Time : 2:30 Hours

[The figure in the margin indicates full marks. Candidates are required to give their answers in their
own words as far as practicable.]

Group-A
(Multiple Choice Type Question) 1x30=30
1. Choose the correct alternative from the following :

(i) Switch off the fan is a sentence in mood.
a) Subjunctive b) Imperative
c) Emphatic d) Assertive
(i) 1cannot put ___ with his ignorance.
a) on b) all of these
c) over d) up
(iii) Misogynist refers to a person who
a) hates women b) hates men
c) hates animals d) hates human beings
(iv) CVstands for
a) Corpus Variorum b) Curricular Varieties
c) Course Viability d) Curriculum Vitae
(v) The idiom 'Go the extra mile' means
a) To do more than what people expect b) To dominate a particular market
c) d) To do things exactly according to the

Something is wasted or lost
rules

(vi) wish my brother were here- the mood of the sentence is

a) Imperative b) Subjunctive

¢) Indicatived - d) Causative
(vii) Confirm/ Conform is an example of

a) Heteronym b) Homonym

c) Homophone | d) Synonym
(viii) After Tanya's exams, she felt as freeas a .

a) Bee b) Bird

c) Tiger d) Prisoner

(ix) My teeth are as white as
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a) Snow b) Chalk
c) Egg d) Moon )
(x)  Which of these is NOT a demographic factor in analyzing your audience?
a) group memberships b) age
¢) speech purpose d) gender
(xi) The Puja begins today.
a) Sell b) Sail
d) Scale

c) Sale
(xif) A message is considered to be concrete if it is supported by

b) Specific persons
d) Specific facts and figures

a) Specific institutions
c) Specific terms

(xili) Time and waits for none.
. a) Tied b) Tide
e E)Tired i d) Tried
" {xiv)*~ A doctor that specializes in treating diseases of the kidney
a) Narcissist h b) Narcissus
c) Nephrologist d) Necromancer
(xv)  Which of these in a SWOT Analysis is an Internal factor?
a) Weakness b) threat
c) Opportunities d) Competition
(xvi) The time of the migrating of the birds has come. (Classify the word in Italics)
a) Gerund b) Infinitive
c) None of these d) Participle
(xvii) The document that is usually associated with Agenda is the
a) Tender b) Minutes
c) Quotation d) none of these

(xviii) Which of the following is a feature of Memorandum?

a) Persuasive b) none of these

c) both of these d) informative

(xix) Which of the following is not a part of Audience Analysis?
a) Culture b) Eating Habits
c) Religion d) Maturity

(xx) Earlier Mary offered some with drinks to Patrick.
a) fruits b) cheese
c) nuts d) wafers

(xxi) Message conveyed in least possible words is of communication.
a) conciseness b) completeness
c) consideration d) compilation

(xxii) the circumstances the principal did not announce punishment.
a) notwithstanding b) considering
c) thinking d) relating

(xxiii) In analysis, people's hopes, values, aspirations are considered.
a) geographic b) demographic
c) psychographic . d) situational

(xxiv) What is Mary's motive for getting the lamb from the freezer?
a) to make dinner b) to kill Patrick.
c) because Patrick wanted to have it d) they were hungry

(xxv) you do not change the meaning, you can rephrase the

sentence.

a) asfar as b) as more as
.c) as well_asl d) as long as

(xxvi) They didn't us of the danger.
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(xxvii) Would it be better to make our own rules or.............. theirs? 25
a) assess b) adapt
c) adopt d) None of these
(xxviii) She was............ at using graphics to illustrate complex ideas.
a) Adapt b) adept
c) assent d) excess
(xxix) What "shocked" Mary when she returned from the store?
a) Supper was ready b) The police had come
c) The fire was out d) Patrick was dead
(xxx) | know all the answers on the test......... the last one.
a) Accept b) access
c) excess d) except
Group-B
3x10=30

(Multiple Choice Type Question)
2. Choose the correct alternative from the following :

(i) are listeners and viewers both.

b) beneficiaries
d) footballers
factors to the firm.

a) Organizers
c) spectators
(ii) Opportunities in business are

a) Internal b) external
c) verbal d) non-verbal

(iii) helps understand how to adapt the speech to the audience's
needs.

a) Audience analysis b) Swot analysis
c) Business meetings d) Audience behaviour

(iv) Where is an Infinitive used in this sentence? She went to the store to get some

bread for her aunt.
b) to the store

a) She went

c) toget d) some bread for her aunt.
(v) is necessary while acknowledging the audience in Audience

analysis.

a) Offending them b) Adapting them
c) Making eye-contact d) Express anguise for coming

(vi) Which verb mood goes with this sentence? "Clean your room!"

a) subjunctive b) imperative

c) indicative d) infinitive
(vii) One who often talks of his achievements is called an

a) egoist b) egotist

¢) agnostic d) atheist

(viii) While analysing the audience, avoid

a) Eye contact b) Acknowledge their needs

¢) Thanking them for their presence d) Insensitive humour
(ix) Mary had bought some potatoes from the grocer.

a) Inaho b) Idaho
c) Yellow d) Ricardo
(x) The explosion could be heard five kilometers away.
a) as faras b) sofaras
c) as well as d) throughout
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